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QUESTION 1

What must be enabled in order to prevent a loop within a LAG? 

A. RSTP 

B. Dynamic-cost 

C. LACP active 

D. Nothing, There are no loops in LAGs 

Correct Answer: C 

 

QUESTION 2

Which of the following statements is false? 

A. VPLS is a bridged LAN service. 

B. VPLS provides L2 VPN services to CEs. 

C. VPLS is a point-to-point service where CEs are presented with point-to-point virtual circuits. 

D. CEs that are members of the same VPLS service instance communicate with each other as if they are connected via
a bridged LAN. 

Correct Answer: C 

 

QUESTION 3

An MC-LAG is configured with default parameters. When a failed interface recovers, the active link reverts to the
restored interface. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 4

IEEE 802.3ah is similar to SONET/SDH in that it can count and report bit errors and frame errors. 

A. TRUE 

B. FALSE 

Correct Answer: A 
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QUESTION 5

Fill in the blank for this next sentence. Flooded traffic received on any ____________ in the service is replicated to other
spoke SDPs and SAPs and not transmitted on any mesh SDPs. 

A. Spoke SDP 

B. Mesh SDP 

C. Either (a) or (b) will make this sentence true. 

D. Neither (a) nor (b) will make this sentence true. 

Correct Answer: B 
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